= o
A & 0l & AF 2 E A A
20198 & =0la LB SEXZ M
M EXE ML
Ha: NAZH 243
Sl Il X8 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
STHZH 2t 15,177,699 7,378,879 7,798,820
= 1,445,915
s 223,295
= 425,820
s 13,082,669
N2 H 243t 3,525,415 4,097,814 A572,399
= 520,090
s 163,295
< 379,620
s 2,462,410
g K& 206,354 1,038,863 A 832,509
= 20,000
s 186,354
salg 84 133,314 881,823 A 748,509
101 @124l 3,374 3,043 331
04 JIZtHZ22HEE = 3,374 3,043 331
OMZEZSH A EHZ A 66,8003 x5H 102 3,340
OdNMEE= 3,340, 0002 * 1% 34
201 et 8,800 7,040 1,760
01 At 22l 8,800 7,040 1,760
O&tgd & sZEX I o2 222 MX
2,000& x1,000% 2,000
OMZEZH M =22 (34 Z0F) 3,000
OoJIg g2 =2 3,800
— 2o &I H A 200,000& =44 800
—Jlg 2882 M= 2,000& x1,500% 3,000
202 Odl 1,200 3,000 1,800
01 = LH o4 1l 1,200 3,000 A 1,800
42 2 ZA)|Y HEHE B HY
60,000 x2H 10 1,200
301 et 8= 3,440 2,240 1,200
09 HALAHIEA S 3,440 2,240 1,200
OJ1g 2gs a4 24 8,000 x60H »23] 960
O=a & =208 AKX /35 A4
60,0003 10 22! 1,200
OB RADE S BAPH
8,000& x40H 43 1,280
308 XXM SOIA 116,500 116,500 0
07 IXNSHH2AURE = 116,500 116,500 0
Os2JIg=Edlls RE= 116,500
=74 N& 66,600 66,600 0
< 20,000
s 46,600
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2N SRS H L

=

g NSFH 2435
el NE3M 245 (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
09 HALAHIEA S 2,000 2,000 0
OXGZHEAs Ha Ad2a
25,0003 x80H 2,000
DI EANEBO SEEXNFES 100,000 200,000 100,000
306 ¢ 2 100,000 200,000 100,000
01 &3 100,000 200,000 A 100,000
OFIAIYI &Y 25 K& 100,000
AN ZA 2 Y 2H 218,600 0 218,600
201 Let24E] 218,000 0 218,000
01 At 22l 218,000 0 218,000
OYTAY 4BA Zo+4E
5,000,000,000& *3% 150,000
OZZAE &4F3 Y & Sds2
5,000,000,000% 1% 50,000
OZSANE &4FH s & UME MH 18,000
202 oddl 600 0 600
01 S LHOYI 600 0 600
OBtAIZ & XtstH s #XI0td =&
60,000 x2H 52! 600
et gAa Nd 2 2el 10,121 0 10,121
101 14l 10,121 0 10,121
04 JI2ZtHZ22XREES 10,121 0 10,121
O=2I2LIHE & 66,8003 x5 30! 10,020
OdMEE= 10,020, 000& * 1% 101
ANE 2t 134,210 120,808 13,402
HEANE 2435t 134,210 116,728 17,482
201 €24 72,970 48,540 24,430
01 At 22l 41,250 19,200 22,050
OZSEXNT 22l L SF4 HA =3
600,000& »3H «12& 21,600
ORSANY AR YHLE 8B £42
550, 000& *3JH 2~ *93] 14,850
OFEANE = ZHII S S#2EH &=
600, 0003 *2I4 2 23] 2,400
Oztaa 22835 78 50,0003 «4) 128 2,400
02 2324l 31,720 29,340 2,380
OZHI=gZANE st&4 3,680
—dIRea3 150,000& = 12& 1,800
—&otER=3 140,000& =128 1,680
-2k =HE 100,000& 23] 200
OGZHOIEANE stE2 6,080




EM: EXEH D
MM NEHH 2435
SRt AIE 22 A
4
SA BB (SH) - NRAY - B Ol At o %E& HRE2
— &2 350,000 x12& 4,200
— ABIEER S 140,000 »12& 1,680
= =HE 100, 000& *23] 200
OGHINF=EFFAHE 7,400
—HIR2(3EA, ZYHAAL)
450,000 ~12& 5,400
— Aot ER 2 150,000& ~12& 1,800
— 2 A= 100,000& *23| 200
OA&Z&H KXYl 14,560
—NHEANE AREAE, BH S X2
2,500,000 *3JH & 7,500
— ZHISYGZAE SEHHEE AWEIIX
Al 265,000 x43| 1,060
—HEANT AYsH UH
1,000,000 *304 &~ 3,000
— HEAZ HIAIE ZUEA
1,000,000 *304 &~ 3,000
202 04| 600 600 0
01 2L HI 600 600 0
O & HEAF WX =3
60,000) 2H x5! 600
301 Bt A= 640 640 0
09 SHAIAHI EAZ 640 640 0
OXSAIE AQIG 2tEsE ZAISA
8,000 x20H 43| 640
401 Al HIZL 201 Y| 60,000 65,000 A5,000
01 A& H| 60,000 65,000 A5,000
OO0OHAIOIE & HIJIEat AIE2 WES
10,000,000 *3JH & 30,000
OFEANE AMES2 HE=S 10,000,000 *3JH A~ 30,000
ol Xl 2tel 1,421,692 1,185,491 236,201
= 174,590
= 27,180
= 1,219,922
Ao A A 22 951,517 943,688 7,829
201 LBt ]| 10,800 10,370 430
01 AP 22| H| 10,800 10,370 430
OS2 sZAHA(SHEESEZR) 3,000
QFEIIGHEEY =42 (SHEBEHZ)
60,000 *130JH A~ 7,800
202 044l 4,000 3,500 500
01 2L Y| 4,000 3,500 500
OZ2U0H EZHA (st ESEZ) 4,000




M EXZH D
3 NSFH gds

S oA 2l

SA - BB B (BA) - MM - BHES il 2
307 ord 936,717 929,818 6,899
02 4 936,717 929,818 6,899
== 274,442
= 244,647
EN 245 2)
3,840,700 x1H x12& 46,089
e 25 =)
3,309,300& x5H x12& 198,558
— Al2te HHZ(6Y) 7,549
_)tx
11,4013« 1H «10Al 2t+ 128 1,369
7_:!
10,299 «5H «10Al 2t 128 6,180
=2 10,2993 x6H +30A| 2t 128 22,246
oz 2) 223,365,000& *1/12 18,614
O=<(&d 87,469
— 2= 100,000& x6H 123 7,200
—d32=ED 80,000 x6H x12& 5,760
—JIE=E 5,280
b < Xt 40,0003 x6H x 128 2,880
=Hl % 20,0003 x10¥ 128 2,400
—S2XZ22¢(LH) 50,0003 x6H x12& 3,600
—fIEZ2R+E 3,000
23 40,0003 x6H x12& 2,880
A= 10,000 x1H «12& 120
— W Z Al 130,000 x6H 123 9,360
— Az B2l 10,260
EASy 155,000& 1H 128 1,860
S 140,000& x5 =123 8,400
— BE S| 223,365,000% *1/12x60%*23] 22,337
— OB AHl 223,365,000 *86%*1/360«20 10,672
—=XNEQE 0lEU3 7,600
— s = 300,000 x2H x43| 2,400
OGS AR -HIH| (I REZ) 600
—AMSHIRFEY 50,000& x1H 123 600
OLMANI(SHEELZ) 204,281,360&x1/12 17,024
02 & BEI (882 3) 46,224
— =300z 23 217,000 x6H «12& 15,624
—oz2=2E RES 70,0003 x6H 128 5,040
- 1828 !E3 55,0003 x6H x12& 3,960
—&HEE RES 300,000 x6H 128 21,600
Odet+=ZH (8E2ES) 73,363
— Lot Hl SHA A 16,823




M EXZH D
3 NSFH gds

SRl UK el (298 R)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
—2g4 50,780
& X 60,000& x2H *119L 14,280
=& 50,0003 *2H 365 36,500
— I =dl 960
P g 50,000 *6H *23| 600
orA 3} 30,0002 *62 +23 360
—oxez 4,800
HOZE Y R34 Mot
400,000 x12& 4,800
OZ22=2dHl(std8Ed) 8,660
—332=2 % MA 8,660
HSAES2 120, 000& *10H A~ x 128 1,440
=CR= 150,000& 10 A x12& 1,800
A0 SAMRB 35,000& * 1 A x12& 420
AEH(ASEEE, 002X, EE2) 5,000
O=Uobl (st 2) 18,400
— 2K H| S22 H A 4,000
— M| 200,000 x6H x12& 14,400
OdzH (st Z) 306,000
— 3% 150,000& x170= & *x 122 1 & 306,000
OANEZH XU (SEESLZ) 75,800
-8R 50, 000& *2002H = 1JH A 10,000
— X2 E A AAaE 4 50,000
— Aot dEA =8 MW= 15,800
SO AH &) 1,000
2fsH 400
SO E 2,400
RS 10,000
e 2,000
OJIZAHIZZUNEEL (Bt ESZ) 10, 121
— 2N~ HxE Y =8 Y|
66,800& x5 30 10,020
—MUEES 10,020, 000& * 1% 101
TOPLHEA FH - BB A 85,765 108,003 ~22,238
401 Al B 20 HI 85,765 108,003 N22,238
01 Al&H| 85,000 107,000 A 22,000
O&zF= & H)| WH(SHHNEEHS) 85,000
03 A& £ HH| 765 1,003 N 238
OFF= & He)| wH(StEEHR)
85,000,000& *0.9% 765
HEIZE JtANS N 96,400 96,400 0
= 77,120




NNy
NS EMH gdEt

DX 2l (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
o 19,280
403 XX SHHS K20 & 96,400 96,400 0
= 77,120
= 19,280
02 BI2SOHUSA=2EAEAIS I 96,400 96,400 0
OAKBIE JIAANEMNE XA
241,000 4000+ 96,400
= 77,120
= 19,280
MIHMHUHRNEZD =4 A& 75,600 18,000 57,600
= 22,680
= 52,920
402 SI2FXHE0| M 75,600 18,000 57,600
== 22,680
= 52,920
02 SIZEXIEAISEX (0| XM THL) 75,600 18,000 57,600
OXMTHM H X =X SAS
1,080, 000& x700 +* 75,600
= 22,680
= 52,920
MIHMOHX AY X 22,610 0 22,610
= 11,970
= 10,640
402 BI2H X220l M 22,610 0 22,610
= 11,970
= 10,640
02 QIZEXIE A E X (0| XM THL) 22,610 0 22,610
OU20{RI01E EHSBLHAL ST (HSZ 10
kw) 22,610
= 11,970
= 10,640
MBS JIANEX E2 15,000 15,000 0
= 4,500
= 10,500
403 XX SHHS K20 & 15,000 15,000 0
= 4,500
= 10,500
02 BI2SHUSAN2EAEAIEHI 15,000 15,000 0
OAKBIZ JIACHMZX B2 ALY (297013) 15,000
= 4,500
= 10,500
MM X 22 & ddXolE s& 3,800 4,400 A 600
201 LBt | 2,000 2,000 0
01 AP 22| H| 2,000 2,000 0
OlHXIZEY =822 HX
1,000 x2=+1,0000H 2,000
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M EXZH D
3 NSFH gds

el X 2el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
202 Od4dl 1,800 2,400 A 600
01 = LH 4 Hl 1,800 2,400 A 600
OMTHHENU XS R (EBHZ, BHeE S)
L WEsEFA O 60,0003 x2H 15 1,800
FHAHS HUHXS KA 171,000 0 171,000
= 85,500
[ia 85,500
401 AIEHI L 20HEI 171,000 0 171,000
= 85,500
s 85,500
01 A& HI 171,000 0 171,000
Ogaz SEXNAE LEDEYE WA (402) 171,000
= 85,500
e 85,500
L xtel S 1,317,078 1,130,331 186,747
= 345,500
as 163,295
< 332,440
e 475,843
NE3sHLtel 182,141 158,376 23,765
s 91,070
< 18,135
e 72,936
101 @124 dl 173,041 150,576 22,465
s 86,520
< 17,225
s 69,296
04 JIZHHZ22XREE S 173,041 150,576 22,465
O&FUW X ely| 173,041
z 86,520
< 17,225
[ia 69,296
201 Let24d] 1,900 1,700 200
s 950
< 190
[ia 760
01 At 22l 1,900 1,700 200
OAg =& MRES 7Y E 22 1,900
as 950
< 190
s 760
202 Od4dl 5,500 4,600 900
s 2,750
< 550
s 2,200
01 = LH o4 Hi 5,500 4,600 900




M EXZH D
3 NSFH gds

&S gxtel FE (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2

OArg =& ot 5,500
s 2,750
< 550
s 2,200

206 M= Hl 1,700 1,500 200
ras 850
< 170
[ia 680

01 M= tl 1,700 1,500 200
OME =& e ¢ 1,700
s 850
< 170
= 680

(OB AtEI DI LXiel &S 92,300 245,333 A 153,033
s 69,225
< 4,615
s 18,460

307 gl2tol & 92,300 245,333 A 153,033
s 69,225
< 4,615
s 18,460

02 IZtE M AHE L 92,300 245,333 A 153,033
O(0bENAIEI =Dl dXtel HE(Lprolad) 81,500
s 61,125
= 4,075
[ia 16,300
O(0IENAIEI RDI Xtel EE(M2H) 10,800
s 8,100
< 540
s 2,160

MIIEIS MIIEE= 4,285 4,285 0
s 3,000
< 214
= 1,071

307 gl2tol & 4,285 4,285 0
s 3,000
< 214
i 1,071

02 IZtE M AIHE L 4,285 4,285 0
OAMIAIS MIEBEZ 4,285
s 3,000
< 214
s 1,071

(OB AR &I AFOREHl XI& 50,000 42,857 7,143
= 35,000
= 7,500
e 7,500




2N
X ZH -
L= B

el

SXHE M
ANSFH gdst
extel FE

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
307 glz2tol & 50,000 42,857 7,143
= 35,000
< 7,500
s 7,500
02 P HAMHEE 50,000 42,857 7,143
O(0ENAISI ZIIY At IOHEH X3 50,000
= 35,000
< 7,500
s 7,500
MIEIY =L X2 14,900 22,000 AT,100
201 L2l 14,000 20,500 A 6,500
01 At 22l 14,000 20,500 A 6,500
OMIIEIY A (MZE) Zd0E 5,000
oYgs 24 29 3,000,000& *3oH At*13] 9,000
301 L2 A= 900 1,500 A 600
09 HALAHIE& S 900 1,500 A 600
OWwesl oK Abl2a
300, 000& *3H Ak *13] 900
dEs HEUENR 56,000 56,000 0
< 28,000
s 28,000
307 glz2tol & 56,000 56,000 0
< 28,000
s 28,000
02 It M AMHEE 56,000 56,000 0
OXEd HIQUEN K& (14Y) 56,000
< 28,000
[ia 28,000
FY 022 AFY 858,452 209,000 649,452
= 310,500
< 273,976
[ 273,976
307 21201 A 858,452 209,000 649,452
= 310,500
< 273,976
e 273,976
02 QIAFAAFEX 858,452 209,000 649,452
O OIS A X2 (1300 AT H) 858,452
— FHESIt 22
1,800,000& x30H x12& 648,000
= 310,500
= 168,750
s 168,750
- Fd&gs ¢ 300,000&*30H x12& 108,000
< 54,000
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2N
X ZH -
L= B

el

S M D
EX=A

ENEEN

=

=

e

o35t

S (s3)eX 22

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 15,000 0 15,000
OzgA=sdI| wiH £ & &X
3,000,000& x571 15,000
HIIXsA B2 1,102,200 520,000 582,200
= 594,000
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